13km

18 4
3.5km

1km

18

3m

90m 65m
89,100

13

10 6

3m

60cm




— N40 ° W45 °
( 43 ° )

43 °

1:1.2
1:1.0

ZHATTISEDS

EORLL,

WM4aE 110 miks, g

HHOa B H L TR,

: GAA N N LS
) 1 : EENISEES R LT
%, ., \ y
REHR L

.;?-B an

*'ﬁf#x?l’

2,2

g

Fs=1.00
1.05

Fs=1.05

Fs=1.05

(t=8cm)
(300 x
Fs=1.15

( )

(t=8cm)

Fs=1.15

(t=8cm)

(300 x
Fs=1.15

300)

300)

EL.299.5m
(
(
(
(

1:1.2)
1:1.2
Fs=1.15

(t=8cm)

1:1.0)
1:1.0

1:1.0)
1:1.0

1:1.0)
1:1.0

Fs=1.15



( 1:1.2)
2 4
( (
1:1.2) 1:1.0) 1:1.0) 1:1.0)
(e} (e} (e}
(e}
(e}
1 2 3
11
364,670
16,600
( ) 47,200
(t=3cm) 2,720
(t=8cm) 10,021
( 1,890

EL.299.5m

]
T
F 1

Fs=1.05

a i ._.——"I T

o £ Lot a ol )
£

EL299.5m




14

(08

32t

(08

(14

62t

360°

11t

)
(429MHz

(50GHz

)




EL.299.5m

2mm/h  4mm/h

2mm/h



